WIMP search in Mono-Photon
Channel



Problems in the previous work
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Problems in the previous work
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Plots according to current sample
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Verifying photon reconstruction
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Direction of the photon with respect
to beam

Momentum, p vs. 0

hp_theta

[3%]

F-N
p_ﬁ;—.f’-.:_ﬂﬂ_‘_’ﬁt-v?_ﬂi-w-l T Tt || TTTTTT [ T 1T | TTT

Entries 87325
Mean x 9.634
Mean y 9.706
Std Devx 2699
Std Devy 1.433

&

16

14

12

10

Evs. 0

hpfo_e

TT

Entries 87325
Mean x 9.712
Mean y 9.744
Std Devx 2.489

Std Devy 1.337

-r'||i|||i1||i|||:i|||i|||:Eu||

2 4

6

10 12 14 16 18 20



Event number

Transverse momentum
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Tranverse momentum-phi
correlation
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Problem in the invariant mass?
Photon only, npfos="1
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Particles involved

No cut,mcr_pdg

I IIIIIITI_
;

T IHIHTI T IIIIIH]

T I!IIIﬂI

IIII[II|

T T

hpdg_gen1

10

Entries
Mean
Std Dev

118213

19.53
7.778

Event number

pa Lo by

10°

10

35 15

0 -5 0 10 15 20

Particle number

T Illllll

T 1 1III[IE

|3 |1I1H|

hpdg_gen

Entries 84539
Mean 21.96

Std Dev  1.037

-10 -5 0 10 15 20

30 35
Particle number



Event number

Npfos=1,mcr_pdg Photon only cut,npfos=1, mcr ID=22
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Future tasks

« Create relevant plots for the samples at 500
GeV



